R AR No.14 fi 215

B EL U (R B0 SR

1 -1 1
THA= -1 1 1| OEAMHE, BEXZ MLzkd, st L.
-1 -1 3

(stepl) FElAMEIXEALEX|A-AE| =0 DfETH 5.

1 -1 1 100 1-x -1 1
IA-XE|=||-1 1 1|=X]0o 1 0o|[=|-1 1=
-1 -1 3 001 ~1 -1 3—2A

1 —1+x -1
={1-Xx -1 1 |12 (1 -NfELTHIL

-1 -1 3= HlirE=d
1 —14 X -1
=10 —1—(=14+N1=X) 1—(=1)(1-=2N
0 14+ (=1+X) 3=+ (-1)
1 —14+4X -1
=10 M2=2\ —\+2
0 AN—2 —\+2
1 —142\ -1
=10 MA—2) —A+2
0 A—2 —\+2
F21T, B3ITHhON-2%2L LK DT,
1 —14+X —1
=(A—2)20 A -1
0 1 -1
%15 CERH
:()\—2)2/1\ _1 ——(A-1)A=22%=0

oIz WTHEAME N =1, 2(2 HfF).

(step2) A=2ZXH T BEAXRT bl x Z2RKDD

I
Ax =22 L2505 = || 295
L3




1 -1 1 T T
1 1 1| |z =2

-1 -1 3 I3 I3
1-2 -1 1 T 0
<1 -1 1-2 1 x| =10
-1 -1 3-2/ \z; 0
1 -1 1\ (= 0
—1 =1 1/ \ux3 0

S —x1—a2+23=0
LD o T as=c,a5=c &BLE 21 =—c1+c EBDT

-1 1
r = C 1 + Co 0 (Cl#o, CQ#O&iHﬁ%)
0 1
MIRTOEERY MVEEZ 5,
MET 5.
1 -1 1 —1 1
Az=| -1 1 1 cg| 1 | +ce]0
-1 -1 3 0 1
1 -1 1 —1 1 -1 1 1 —2 2
=c|-1 1 1 1 +c | -1 1 1 Ol = | 2 |4+ |0 =2=
-1 -1 3 0 -1 -1 3 1 0 2

D SHEPIZEA 2 12T BEART bl eiioTn5.

(step3) A=1 IZH T BEART by 2KDD

Y1
Ay=1-y 2 Rdnoy= |y | &35
Y3
I -11 (1 (7
-1 1 1) lwe]=|v
-1 -1 3/ \ys Y3
1-1 -1 1 " 0 0 -1 1\ (i 0
S 1 -1 1-1 1 wl|l=10]]-1 0 1 ol =10
-1 -1 3-1 Y3 0 -1 -1 2 Y3 0

@ -tht+ys=0, —y2+ys=0
L7z oTys=c3 B yy=ypp=c3 £RBDT
1

Yy = cC3 1
1



NIRTDEFRT bIVEEZ D,

MBS 5.
1 -1 1\ (1 1
Ay=1|-1 1 1| |1|=]1]=yvy
~1 -1 3/ \1 1

2 OMEPZEAME LITN S SEAEHELR>TNS.

—1 1 1
(Step 4) XL d 5, BonkEFNT ML 1|,]10],[1 2R T
0 1 1
1 -1 1
P=|1 1 0
1 0 1

21E5,

|IP|=1#07Z25IN5DEAERY MUIE 1IN, ULz T AR AaaEe
S5,

MEL &S,

1 1 -1
P'=]1-1 0 1
-1 -1 =2
ThHHNro
1 -1 1 1 -1 1 1 1 -1 100
P'AP=|(1 1 o|l|l=1 1 1]|=1 0o 1|=1]020
1 0 1/ \=-1 -1 3 -1 -1 =2 00 2

FERRIZEHR LU TP 5 Z &,



